MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 372-6339
NOTICE OF ACCEPTANCE (NOA) www.maimidade.gov/buildingcode

United Enertech
3005 South Hickory Street
Chattanooga, TN 37407

Scoprk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AILJ). '
This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model FL-D-4 Aluminum Louver System.

APPROVAL DOCUMENT: Drawing No. 08-197, titled “Aluminum Louver System Model FL-D-4”,
sheets 1 through 13 of 13, dated 08/05/08, prepared by Tilteco, Inc., signed and sealed by Walter A. Tillit Jr.,
P.E., bearing the Miami-Dade County Product Control Revision stamp with the Notice of Acceptance number
and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant,

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 05-1005.03 and consists of this page 1 and evidence pages E-1 and E-2, as well as

approval document mentioned above.
The submitted documentation was reviewed by Carloes M., Utrera, P.E.

‘ MIAMI.DADE COUNTY'
APPROVED

NOA No. 08-0902.08

Expiration Date: January 17, 2011
Approval Date: October 30, 2008
Page 1




United Enertech

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Drawing No. 08-197, titled “Aluminum Louver System Model FL-D-4", sheets 1
through 13 of 13, dated 08/05/08, prepared by Tilteco, Inc., signed and sealed by
Walter A. Tillit Jr., P.E.
B. TESTS
1. Test report on Large Missile Impact Test per PA 201, Cyclic Wind Pressure Test per

PA 203 and Uniform Static Air Pressure Test per PA 202 of “Aluminum Louver Panel
System model FL-D-4”, prepared by American Test Lab of South Florida, Report #
0604.01-01, dated 06/21/01, signed and sealed by W. R. Mehner PE & H. Hattem,
P.E.

Test Report on Large Missile Impact Test per PA 201, Cyclic Wind Pressure Test per
PA 203 of “Aluminum Louver Panel System FL-D-4”, prepared by American Test
Lab of South Florida, Report # 1212.01-01, dated 12/13/01, signed and sealed by W.
R. Mehner, P.E.

“Submitted under NOA # 03-0106.19”

C. CALCULATIONS

1.

2.

Approval Aluminum Louver System Model FL-D-4, prepared by Tilteco, Inc., sheets
1 through 11 of 11, signed and sealed by Walter A. Tillit Jr., P.E., on 06/29/01.
Revision to Approval Aluminum Louver System Model FL-D-4 prepared by Tilteco,
Inc., sheets 1 through 31 of 31, signed and sealed by Walter A. Tillit Jr., P.E., on
06/21/05.

“Submitted under NOA # 03-0106.19”

Revision to Aluminum Louver System Model FL-D-4, prepared by Tilteco Inc, dated
08/08/08, sheets 1 through 139 of 139, complying with F.B.C. 2007, signed and sealed
by Walter A. Tillit Jr., P.E.

D. QUALITY ASSURANCE

1.

Miami Dade Building Code Compliance Office (BCCO).

L=z,

7 Carlos M. Utrera, P.E,
Product Control Examiner

NOA No. 08-0902.08

Expiration Date: January 17, 2011
Approval Date: October 30, 2008



United Enertech

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

E. MATERIAL CERTIFICATIONS
1. Test report on Tensile Test per ASTM E8 of 3 samples ATL 0604.01-01B, C, & D1,
signed and sealed by F. Grate, P.E.
“Submitted under NOA # 03-0106.19”

F. STATEMENTS

1. No financial interest letter issued by Tilteco, Inc., dated 08/28/01, signed and sealed
by Walter A. Tillit Jr., P.E.

2. Code compliance letter issued by Tilteco, Inc. on 08/28/01, signed and sealed by
Walter A. Tillit Jr., P.E.

3. Test compliance letter issued by American Test Lab of South Florida on 06/21/01,
signed and sealed by W. H. Mehner, P.E.
“Submitted under NOA # 03-0106.19”

4. Revision cover letter, issued by Tilteco, Inc. on 08/26/08, signed and sealed by Walter
A. Tillit Jr., P.E.

G. OTHER
1. Notice of Acceptance No. 05-1005.03, issued to United Enertech, Inc., approved on
12/08/05 and expiring on 01/17/11.

Carlos M. Utrera, P.E.

Product Control Examiner

NOA No. 08-0902.08

Expiration Date: January 17, 2011
Approval Date: October 30, 2008



GENERAL NOTES:

1. ALUMINUM LOUVER SYSTEM SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN
VERIFIED FOR CODE COMPIANCE IN ACCORDANCE WITH THE 2007 EDITION OF THE FLORIDA BUILDING
CODE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE,
IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D AS TESTED WERE NOT OVER
STRESSED, A 33% INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR
ANALYSIS . A DURATION FACTOR CD=1.60 WAS USED FOR VERIFICATION OF FASTENERS SPACINGS IN
WwoOD.

ALUMINUM LOUVER SYSTEM’S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED
IN ACCORDANCE WITH SECTION 1626 OF THE ABOVE MENTIONED CODE AS PER AMERICAN TESTING
LAB REPORT # 0604.01—-01 AS PER TAS—-201, TAS—202 & TAS—203 PROTOCOLS.

2. ALL ALUMINUM EXTRUSIONS SHALL BE 6063—T6 ALLOY (UNLESS OTHERWISE NOTED).

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES W/ 50 ksi YIELD STRENGTH AND 90
ksi TENSILE STRENGTH OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018.
THRU BOLTS AT MULLION TO BE ASTM A—307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS
STEEL.

4. ALL ALUMINUM COMPONENTS FRAMING SHALL BE WELDED IN ACCORDANCE WITH AWS D1.2 ,PER
THE AMERICAN WELDING SOCIETY LATEST EDITION REGULATIONS USE CERTIFIED WELDERS. USE
ER-5356 ELECTRODES.

5. JAMB ANCHOR REQUIREMENTS: EMBEDMENT AND EDGE DISTANCE ARE BEYOND ANY FINISH.

(A) TO EXISTING POURED CONCRETE: (MIN. f'c = 3192 psi), MIN. EDGE DISTANCE (ED.) = 2 1/2"

— 1/4"@ TAPCON ANCHORS W/ 1 3/4” MIN. EMBEDMENT, AS MANUFACTURED BY (ITW BUILDEX).

(B) TO EXISTING A.S.T.M. C—90 CONCRETE BLOCK WALL. MIN. EDGE DISTANCE (E.D.) = 2 1/2"
~ 1/4"0 TAPCON ANCHORS W/ 1 1/4” MIN. EMBEDMENT, AS MANUFACTURED BY (ITW BUILDEX).

(C) TO EXISTING 2x P.T. WOOD BUCK. MIN. EDGE DISTANCE (ED.) = 1 1/2"
— 1/4°0 [AG SCREWS W/ 1 1/2” MIN. EMBEDMENT, AS PER N.D.S. 2005

(D) TO EXISTING MIN. 1/8” THICK STEEL MEMBER (ASTM A~500, A—653 OR A—36) MIN. EDGE
DISTANCE (E.D.) = 1/2"
—~ 1/478x3/4", AS MANUFACTURED BY (ITW BUILDEX).

(E) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS
OF THE ANCHOR’S MANUFACTURER.

6. ANCHORS REQUIRED FOR MULLION CONNECTIONS SHALL BE AS SPECIFIED ON APPLICABLE
SECTIONS SHOWN ON SHEETS 6, 7 & 8 RESPECTIVELY.

(A) KWIK BOLT TZ EXPANSION ANCHORS & M16 HSL—3 HEAVY DUTY AS MANUFACTURED BY HILT,
INC.; 3/8"@ LAG SCREW AS PER N.D.S 2005 & 3/8°s MACHINE SCREW SHALL BE MADE OF NON

CORROSIVE STEEL W/ A MINIMUM YIELD STRENGTH Fy = 33 ksi. W/ CORROSION RESISTANCE AS
PER DIN 50018.

(B) MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS
INDICATED BELOW OR AS SHOWN ON CORRESPONDING DETAILS FOR EACH LOUVER COMPONENT
INSTALLATION IN THIS DRAWING, WHICHEVER IS LARGER (MORE CRITICAL).
EDGE DISTANCE AND EMBEDMENTS ARE BEYOND ANY FINISH MATERIAL.

SPACING EDGE DISTANCE EMBEDMENT SUBSTRATE
ANCHOR @ 100% MIN. @ 100%

1/2” KWIK BOLT TZ 6" 6” 4" POURED CONCRETE (f'c=3000psi)
5/8" KWIK BOLT TZ 6” 6 3/4” 5" POURED CONCRETE (f'c=3000psi)
3/4” KWIK BOLT TZ 6" 9” 5" POURED CONCRETE (f'c=3000psi)
M16 HSL-3 HEAVY DUTY 6" 5 7/8" 5" POURED CONCRETE (f'e=3000psi)
3/8” LAG SCREW 2" 1 1/4” 11/2” OR 3" WooD  (6=0.55)

3/8” MACHINE SCREW 2" 3/4” - STEEL  (Fy=33 ksi.)

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF
THE ANCHOR'’S MANUFACTURER.

7. THIS LOUVER SHALL BE ONLY INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS
DESIGNED TO DRAIN WATER PENETRATING INTO THE ROOM, AND THE ROOM WILL HOUSE WATER

RESISTENT/WATER PROOF EQUIPMENT, COMPONENTS OR SUPPLIES.

8. IT SHALL BE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE
WHERE LOUVER SYSTEM IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE.

9. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER LOADS TO THE BUILDING
STRUCTURE. WOOD BUCKS MUST BE SOUTHERN PINE, G = 0.55.

10. (A) THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) PREPARED BY THIS ENGINEER IS GENERIC AND
DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS
DEVIATE FROM THE P.A.D.

(B) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION INCLUDING LIFE SAFETY, PURCHASE AND
INSTALLATION OF THIS PRODUCT BASED ON THIS PRODUCT APPROVAL PROVIDED HE/SHE DOES NOT
DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE
CONTRACTOR'S RESPONSIBILITY.

(C) THIS PRODUCT APPROVAL DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.

(D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT
WHICH WILL BECOME THE PROFESSIONAL OF RECORD (P.O.R) FOR THE PROJECT AND WHO WILL BE
RESPONSIBLE FOR THE PROPER USE OF THE P.A.D.

(E) ORIGINAL P.A.D SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OR RECORD THAT PREPARED IT.

11. ALUMINUM LOUVER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF
LOUVER BLADE (COMPONENT 2). ONE [ABEL SHALL BE PLACED FOR EVERY OPENING. LABEL SHALL
READ AS FOLLOWS:

UNITED ENERTECH, INC.

CHATTANOOGA, TN.

MIAMI—DADE COUNTY PRODUCT CONTROL APPROVED.

MAXIMUM DESIGN PRESSURE RATING
+150.0, —=150.0 psf.
LARGE MISSILE IMPACT RESISTANCE.

F.B.C. (HIGH VELOCITY HURRICANE ZONE)’ »

ALUMINUM LOUVER SYSTEM DRAWN BY
MODEL FL-D—4 LA

© 2008 TILTECO, INC

08/5,/08

UNITED ENERTECH, INC. DATE

/ I IL I E C O INC. \ 3101 SOUTH ORCHARD KNOB AVE.
. TILLIT TESTING & ENGINEERING COMPANY

e [ 8355 N.W. I6th, St, Ste. Y05, VIRGINIA GARDENS, Fi. 33166
™~y Phone : (305)871-1530. Fox : (305)871-1531

CHATTANOOGA, TN, 37407
PHONE: (423)698-7715 FAX: (423)309-2410

EB~00086719 REY. No DESCRIPTION DATE REV. No DESCRIPTION DATE

08—-197
DRAWING No

¢ anne
31 P :?«

08,/05,/0!
08/05/

WALTER A, TILLIT Jr. P.E ! oLD 05-150 3 - -
FLORIDA Lic. # 44167 2 + - -

SHEET T OF 13




046" 1.079"

\ 081"
G %
4.162" < % .088"
S RN o }
” » u L. p ” [\
.188 419 3 =, Q| D 169 Q
2 ~ TN
218" Q| — & '
» Q
i 219 R Y N
o Q RSl -
:liﬂ Sb /?,0/6\11 2.747” g =~ <+ Lﬂr g
N : b
\\. =U'\ : 2.\388” 8 ! 2 ES
B 8] < - S 081" | % R
) 8 ’ ™~ i P Sl Qf
S ®Q (:2 4~ BLADE SUPPORT - | o ¥ ¥
S ., = SCALE: 3/8"=1" ~ = N
. 4.214 S S &
wn N 1
Nn
9 i &
(1) 4” TOP BLADE -
SCALE.' 3/8”=7” .075;”
4.214” S g
R 291"
1.125"
N ;
LS y R
gl = $ 4” SIDE JAMB =
wl ® . & SCALE: 3/8°=1" 4
%. N L&% -“Q (j) "t"
" s R 2 (SEE SCHEDULE
wl L © Q° ON SHEET 9)
ST T3
2 XD
ﬁ% &
- 219" 7] : ™ 3
218" 1+ | © "
- I R e "
|| 188 419" Q| e VARIES
t 16 2.000 (SEE SCHEDULE
: ON SHEET 9)
” ¥
(4) 4 BOTTOM BLADE (6) LOUVER
e IMPACT STRAP @ muLLION
SCALE: 3/8"=1" 606376 ALLOY

SCALE: 3/8"=1"

s(ju;‘; 55-)3705 COMP_ON_ENTS F.B.C. (HIGH VELOCITY HURRICANE ZONE)

SCALE: 3/8"=1"

©2008 TILTECO, INC ALUMINUM LOUVER SYSTEM DRAWN BY
MODEL FL—-D—4 LA
08/5/08
I“.IEC o UNITED ENERTECH, INC. DATE
INC. 3101 SOUTH ORCHARO KNOB AVE.
TILLIT TESTING & ENGINEERING COMPANY CHATTANOOGA, TN, 37407 08—197
6355 M.W. 36th, St, Sts. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (423)698--7715 FAX: (423)309~2410
Phone : (‘”‘5)57[:.;_5530?;1"9("05)57’—'537 REV. Mo DESCRIPTION DATE | REV. Ho DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. 1 OL0 05-150___|08/05/08 3 = =
FLORIDA Lic. # 44167 2 7 . T| SHEET 2 0F 13




DETAIL 5/6, 7, 8 A/5 B/5 ﬂE/ 6, 7, 8 A/5 A/5 B/5
s | %) (T,,/P) J /! /QETA’L 567, 8 % /! o A/S DETAL 5/6, 7, 8 (2)F14x1”
sy / \ o . ’ \ (17P) S.M.S.
4 — 4 \ Z N i \\ :/ \ Pasin,S
(\ WV iiininiuiaiuis C) ) Simupapjuuinge i [ 1) 6 i i P N ) ) Snimpainiuinininiel 4 O ) i ininiiuien g ! P Y 1) Saeiiniaiig o ] [ o Erpaieiaiy sy ‘IV/ N
1% % hREE T TV NEL/ & T % N i ass DY B
@ | T2 |0 Iy @ | o M+ L0 Y == hahad ==
] : e e I i 1 T .t B p e l e P R | ~—._~
i 1 == ==t ¢ = —f h i A
1 i 1 9" I | | il | 1 t L
@em |1 w (IO Hlgon 1| O oo |I| 6N ®
Y i 10 Y i Y i -
3/6, 7, 8 o _I_ gu J{ _i lL i _T_ o __I_ o : S%L?"
S/M) ) ! il == i N =
( 40 | f@ e | @\IH | | ﬁlﬁ’ i (TvP) b~ n n ey | | L~ n :
‘——“—7{\*' ] | ) 2t i : " m ! f@ f ™ £ === === [@ ! IS Jf: SEEEN —D"
+ i g & AEEE + +B + .=
757\ i _?" : _%1': a 3/8" 5.5 l:u I = | ni ‘%‘ i “T‘ /: \ /¥ ‘%‘ i T /: 6'~0" 7 T N
‘i\ ”y s l I 'y b Y
6'—0" /_@ i DETT)'/:%L J i 'ZFZ?’?MBOLTgC Ei; : i : EEE /_@ ' DET@‘;L 2/( ~.i..—/ Dv /@ II DE#AL 2_/ ~..i,—/ w Max. ,
Max. " } i - Fure al“);é-/GHT {H { ' : i e s } f e e { e /“27{4%.57‘4)(7
watoy T + + L * 1 i T + + il o o
( @H | @ | st SNCY @ | @ | @ | 1
( t I [ : :| 1 H H A ]
s 1 il il L | l
+ + 1 3 7 T ¥ 3 DE 3/5, 7. 8 )
1 ” i 1 ot - : =1
, | 1 | N O | g N
! @ , Max. b b , @ - , Iy HIDDEN
‘EFT it I I .l L - 'I' A+
M DETAT 18 4TS ARk DETATL 18 p+~f 1 I R DETAL 1B A1~ (M DETAIL 2
L ~\[— { TP _\\’ PO B lII il II[r b TYpP _\Y c# \ i r\.a ! { vP / + \ J=3° SCALE: 1/4"=1
g O D G AN R A R Ird &g - T LU INDETAL 3/6, 7, 8/ |y s S Y
L I miaieininings B0 A Nainnia ;T_:_:_‘:f_:_: iR B15 S ik B i [t (SiM) i I ] S, ffifffffffi? ‘1‘\
== Sum N = \Q J J N7 ~ADETAIL 6/6, 7, 8 . /~@
ETAIL 6/6, 7, 8 . (TP) (2)f 14x1
DETAIL 6/6, 7, EX JA/ 5 JB/ 5 h £/6, 7, 8 A/5 / A/5 B/5 A/5 SMS. -\‘7 L
(S/M) 3 I3 (S/M) (S/M) R @
—2'-0" Max ——2"-0" Max: e—2'-0" Max— —2'-0" Max—\——2'-0" Max: 2’0" Max— /
€"-0" Max: 6'—0" Max: ——2"—=0" Max: —2'-0" Max: ——2'-0" Max: I . d
MULLION SPACING MULLION SPACING —6'~0" Max: (I n— -
UNLIMITED WIDTH— 7:" “““““““

LTIPLE UNI RIZONTALLY D_(INSI SINGLE UNIT (INSIDE ELEVATION)

SCALE: 1/8"=1" SCALE: 1/8"=1
6'-0" Max: . 6'—-0" Max: 6°-0" Max: /_@ DETAIL 1B
SCALE: 1/4"=1"
RON N JAON Gr y
/ J_/ \ / \
o B i A—— —-—-—-] A A ~t—t— v ) B - B W [ I —
7 \ == / \ - L / \ -
6 2 6 2 / 7 ®/ 6
S 3/8" S.5. THRU BOLTS @
9" FROM TOP & BOTTOM & \
© 18" Max. 0.C. FULL
(SEE ScHEnuLE HEIGHT THRU )¢ C) EXSTING, SUBSTRATE
ON SHEETS 10, 11, 12) SECTION Q'—Q' g/v SHEETS 10, 11, 12) SECTION D—-D ON SHEETS 10, 11, 12)
— SCALE: 1/8"=1" ,
SCALE: 1/8"=1 / F.B.C. (HIGH VELOCITY HURRICANE ZONE)
©2008 TLTECO, INC ALUMINUM LOUVER SYSTEM DRAWN 8Y
MODEL FL—-D~4 LA
08/5,/08
llLIE o UNITED ENERTECH, INC. DATE
c INC. J101 SOUTH ORCHARD KNOB AVE,
TILLIT TESTING & ENGINEERING COMFANY CHATIANOOGA, TN, 37407 08—197
6355 N.W. J6th. St, Ste, 305, IRGINIA GARDENS, Fl. 33166 PHONE: (423)698-7715 FAX: (423)309-2410
e Phons ;" (0871~ 1836 Fox 1 (SO0)R71=1831 e T i | Bisemrar [ a] | DRAWING No
WALTER A, TILLIT Jr, P.E. : olb G5-150___Joofos/od 3 - -
Voo e FLORIDA Lic. # 44167 2 ‘ - | SHEET 3 oF 13




, dE/6, 7, 8 IL 5/6, 7, A'/5 B /5 __ A/5 DETAIL 5/6, 7, 8
DETA/L(S%E\—_ (P)5 15 ’/5 TN / A/ 5r DE]?S/M) \, 1 / 1 / RN

G / \_ 2o * NUMBER OF LOUVER PANEL
e er 1/ (VR V| W | — STef===———== AT ——" g 2o stojeiuioquiuiois CJ ) Nuiafuiuiumuiute o5 ] ] M mierniuiniuinie s UNITS NEEDED TO ACHIEVE
_:'_;;;;;i!fm:::::::L:o"!‘o VAP n T Sk 5. g =========}*~= “i‘ ===t ) NV T //‘ LV L® N/ THE OPENING HEIGHT AND
\\ ‘-~L¢/ L@ 4 T 1 + \\ P L@ h 1N 7 8 T @ H DETA/L 1 .-I ™1 W/DTH MAY VARY HOWEVER
NI Y® DETA/L IA/g/ . i | | | i @ 8 | DETA/LTYIIDA/J | X ﬂ_DETA/L 5/6, 1 - | 1 o MAXIMUM UNIT HEIGHT AND
— pe L 1 = ry Ey = = k3 k3 it WIDTH SHALL NO EXCEED
I - T » »
"+ 2 + | | E I an g} | o) | oN 6'-0"
| I
@rm |1 R oL S *if/@ i
£ ==l : s £ ¢
£ + AERN —+ + ! | |
=l . ! 1]
' ! : TYP LA~ '
— @cn || (& Lo e em|| AT =
' + A+ AR + 4 E [ { _Ji>_ : slon
RS @ 119 1 R A A ha 1 -1+ vD 73 | R " Max ¥
\ /HX /\ ¥ 3ess Juf|fu 1 1 L 5 v | pETAL 2/;/ T=r S ‘
6o D / 3 /@ DETAIL 2/3 %“ rjfge'yMggLrgc@lﬁi ! % i iii /‘@ i DETAT/éPZ/f If‘ v | TYP ! ; VD/ 3
Max. * i e —] FULL HEIGHT ! i i ; 0 —1',— —+— I piing D/ 3 ._=_.=Eg+ E) [y
=T | h s - i
| [N ! | (:)—\ | <:>‘\ ’
o alu |_|—|-:ml%l @_\ ! @\ ! i i
5 ] il il s € 3
5 i 2 ¥ Lo s o * H
2 A [ B - | L1, < h r@ | | peran 1875 | | I
N v [ LA | o e | 1@ et LR | K ¢
o ' i | : Ly ' \,—l-, i / \. \ H H I
= DETAIL X b P | . _ . » é 5
g W 2 ) i ¢ Moemn 376, 7, 8 | - X
o - ’:Z::iiii:;i i = ool b a
“J Ty i h=ebobo—oogdi | ad.) 3 e / s
i peTAL | = } o R / U | oeran 1473 ] A L@ 5
L 15/ 7 8 W | | peran ,A/y\ ¥ 7 i !: i DETAIL IA/:'i/)\,,' L@ J ! (SIM)//)J 1 N
4 . - I , (SIM) 1 | | S
z (5iM) (SiM) il el g § 4 . -~ s ]
= f{ l ' ) | I i M = H |
5 —e AL - R T 2 .a "
: et 3 i omal T ™ a 2073 | lgom |1| O~
1 ! I »
N \—®OR | @ (TvP) | Max. i | {1 i @O G @ (TYP) . (Tve) '
S ' ! R % - ~l—
> : + 1A 3 3 + T
3 i T gL b | 11 -+ ! . .
= 1 =~ "I‘ 2
[ [ I TvP) b=l 4 -+- (TYP) | e (e
—p Lom bl [ONTHe || oy g - 20| ATk
- R & A 'y { ! 2 — - H 6'-0"
i _?_ | e B i P 1L -l \y el 7 _v 2 ‘ | l " Max. *
v Y , " I I J / D 3 H ~r —
D 7’3 RO DETAIL 2/% - i BT dl | | i IH /'@ | vETaL 2/3/ 11 / f© f DETAT/vL’PZ/g/ i— VD/ 3
e | 78" max._oci |\ | if u | P D /37 A i o
PPy ' ) _+_- FULL HEIGHT ! ! | i —+— -1'; 1@559 ==t K3 3 4
Max. * + Ad ha {” Pl “} R - ¢ i
! ; )| DETAIL 3/6, 7, 8 ON @ |
G | @A | g ig G @n (SIM) ' | DETAIL
| l AR | | L & 3/6, 7, 8
rs ¥ 1 [} + LR §; T+ T T
- - i )} ' o P N 1
| " 0 il i ’ / | " PRODEICT REVISED
9 R B A - \-@ | H gl Fioedda
EE-+ \_@ ! ! Max :Eg { { ii: | @ I =T 1 II i 3 f'J‘ I / m ﬂh
i | AL TBZ3 A~ i p DETAI TB73 A~ o % g ! DHA’TLYP’B / ™ b el nﬂ 0702, &?
DE’ / /] i i /| N e 4, #) Lb N m
i / N I I & YP N Y = | ! 1 N
#b TYP '\7 |\ T T 4 ] \ t \ h T Bl s = I e 2z = A Bxglngtion
'/’T\A I B 1 DO = v ==L======|‘ d @ {‘E | I ———— Fe========tq ¥ FEF===-=7=44 ) R e A 5 ——Z,—j—~‘\-—* }
il kbl N diininiuiuioiel i M 7 Al i~ o' 15~ inininininininn Bl inimisinininininin LD \ PR Bl
DETAIL /”-’ s S , \~--IXQETA/L 6/6, 7' 8 ‘A ’/5 4 B /5 ( /M) KQETAIL 6/6. 7. 8 3 ' m
6/?51/;) ? A/5 B/5 s A( 5)- ———2'-0" Max—=l——2'~0" Max—=~——2'~0" Max:
S - 'SIM L *
4£/6 7, 8 o Mox F.B.C. (HIGH VELOCITY HURRICANE ZONE)
~——2'-0" Max —2'—-0" Max: —2'-0" Max— —2'—0" Max——~——-2"-0" Max: e—2'-0" Max— ALUMINUM LOUVER SYSTEM DRAWN BY
P . ©2008 TILTECO, INC MODEL FL—D—4 LA
6'—0" Max. * 6'~0" Max. 08,508
l——MAX. MULLION SPACING (SEE SCHEDULE ON SHEET 9)—~leMAX. MULLION SPACING (SEE SCHEDULE ON SHEET 9)—] / gg{ngl:ON / -I_I-— \ UNITED ENERTECH, INC. vont
4 ¥ M_i_ﬂML) ORCHARD KNOB AVE.
UNLIMITED WIDTH SCALE: 1/8"=1" |L E C oleGch‘.WANY 3101c fqu#;Zoo Gi D oy 08—197
MULTIPLE UNITS HORIZONTALLY & VERTICALLY S LT Cﬁrgﬁﬁ? fggséggﬁ;%%ggys,’ 7, 3310 PHONE: (423)698~7715 RE:‘A:: (423):2?;-?; 10 _ DRAWING No
- s e — one : - . Fax : - DATE . No
XPA SID ATIO NN s e > P 0008719 T - - OF 13
Elrs () (é ﬁﬁ WALTER A, TILLIT Jr. P.E. ! y - - SHEET 4
SCALE: 1/8"=1" [1 f ; W FLORIDA Lie. # 44167 2




DETAI il
| Sdus. me Al 3/6, 7. 8
(5iM)
P N

FULL HEIGHT

1"%2"%1,/8" CONT. SCALE: 1/4"=1 6'-0"
ALUM ANGLE Max.

SECTION A—A SECTION B-—B
\@ SCALE: 1/8"=1" SCALE: 1/8"=1"

OR (2) #8x1 7/4"y

DETAIL 3/6, 7, 8 SSMS 70O pETAIL 8

(SM) " SCALE: 1/4"=1"
| AN | | @ 1"%2"1/8” CONT.
i | ALUM ANGLEY

2
6'~0 (2)psx1”] | L~ P
Max S.S.M.S. "v\l | 3 3/16"
DET; ; @/ i F
_ALL_ﬁx [ =
DETAIL 89
i b SCALE: 7/4 "=t .
@71 1\ a%_ F.B.C. (HIGH VELOCITY HURRICANE ZONE)
< i o 2008 mireco, me ALUMINUM LOUVER SYSTEM DRANN 7
MODEL FL—-D—4 L4
CTION A=A’ SECTION B'=8" TiLlEco . UNITED ENERTECH, INC oa/os0s
X n_4n \ n_y» ’ . DATE
SCALE: 1/87=1 SCALE: 1/8°=1 IL E C O INC 3101 SOUTH ORCHARD KNOB AVE.
T T N AN PHONE: (42395087715, Fust. (429)308-2410 08—197
e : ;:Z“jp r; o \::\J\ Phone : (305)57£1'5Z-53?70?;79(305)67’ 1531 — e c;”,m - —T N; pr— e DRAWING No
ST W A T o BF - op gnie  ER = — SHEET 5 OF 13




ED. E.D. POURED CONCRETE OR

SEE SCHEDULE SEF ' ANCHOR, ALTERNATE
ON SHEET 10 SCHEDULE SEE SCHEDULE ANGLE 1 GAP ggﬁgfé‘;; ’BLLngKC%LL .
ON SHEET 10 ON SHEET 10 LOCATION 5 ;
— . FOR SPEC/F/CAQQN\S / POURED C/_QNC/;ETE OR REQ'D. @ JAMBS.
ey GROUTED FILLED CELL
SEE SCHEDULE ouReD AU S . A | e el 5
ONCRETE % | ,. ;, " REQ'D. @ JAMBS. , ,
REQ'D. ) { | S a e i '_ L
' . .ﬂ'
| — | L a
T : | OR@ Xv_ i vX - N e
' 3 ALTERNATE i I | R T o Aty o
: ANGLE iﬁ Erj,—‘l | 52 max. 0. (. BLOCK) ngéflg’g }g"g N
o 1 Location | [ 7" MAX..0.C(P. CONCRETE) L 4l P EA END T
1/2"8 THRU @_ __________ LD (1) 1/2" THRU BOLT | @ L e - EA @ D
Ol | 1 %//_ BOLTS (SEE % (SEE SCHEDULE ON < | i 7/'2 N BTN < Ay
SCHEDULE ON SHEET 13) } et —p> DR oty
— - . . <
J. SHEET 13) }g IEH\-JILIT | ® .<,_</,4g. b .. TS T 40
Y _A__ Max. AY | % | 5: MAX. O:.C (C. BLOCK) 1o Tl e — 3
. (SEE , 7" maxro.c (P. .CONCRETE) s y Co
I i A «  (ED.)
ANGLE, | i | SCHEDULE | ~—-I/2 '? . A AR 7‘:. A>. ] . ‘4
SEE SCHEDULE ! | @ N | ON SHEET 9) @—\ 42| 152 1/8 CONT. ALUM. ANGLE s A l
ON SHEET 13 { l | N | w49 "W/1/4"8 TAPCON ANCHOR @ 5" T, S _Min -
FOR SPECIFICATIONS | - e 1 @ | : _,FROM TOP & BOTTOM & @ 5” . .. (ED) 1/2
Max. 0.C. FOR CONCRETE S e 1/2"-]
| | .
! | PO S A BLOCK & @ 7" Max. 0.C. FOR
! } ON SHEET 15 AL TERNATE DETAIL 3 POURED CONCRETE TO WALL
! ! FOR SPECIFICATIONS TSCALE 1/27=1" w/A(2) 1/4%ex1” (ITW BUILDEX)
& IN%) \—L e | sous y i sorens o o g ALTERNATE 1 ALTERNATE 2
3/8" S.S. THRU (SEE ANGLE RIS (2),?8x1" TAPCON.
BOLTS @ 18" SCHEDULE ; e . #.S, .
see scheoute | N o~ _—~ U HrNFF/T——t—— §_ _
0.C. FULL HEIGHT, ON SHEET 9)  "ON SHEET 13 \@OR@ ! SECTION X=X
THRU &) & Q) FOR SPEC/F/CAr/oﬁs\\ . SCALE: 1/4"=1"
<@ et 11® i | R
| ! (SEE LG Y
O o DILE (SEe o, _1%21/8 CONT.
ALTERNATE |! | 9) SCHEDULE Ry T Sty AT ALUM. ANGLE
ANGLE H—EQ——t—FfQ—H ON SHEET 9) e
r | 1 S
LOCATION | | g_v , . | B
ANGLE, Y ' | H Max. @ %ggsTHRU
SEE SCHEDUL ' ! " (SEE SCHEDULE ON POURED CONCRETE OR
FOROAéPSE%fgCA%Ns I + gcifs T(ggg - SHEET 13) DETZ—A,/L; _‘:5 GROUTED FILLED CELL
CIFICATIONS ST 3CHEDULE ON /. CONCRETE BLOCK WALL
. — ' SHEET 13) / = -, REQ'D. @ JAMBS.
A | Pouren L
e ¥ CONCRETE @\ _ et
A o REQ'D. N I P
o 3 ANCHOR, s o 4e
. SEE SCHEDULE %229#5); BN l} | B
ON SHEET 10 SMS. O\ || S
FOR SPECIFICAT OR @ i T
| Eo y < o
(SEE SCHEDULE TYP AN e
ON SHEET 10) ANCHOR, 3/16 | CITEE
“\\SEE_SCHEDULE \ ! A
ED. ON SHEET 10 , R
(SEE sgé‘L/?I‘EDULE SEE FOR SPECIFICATIONS 2 x4’ xVARI 0'=8" ANGL ,::::::::::::Iﬁi_']%::: et
SCHEDULE (TOP & BOTTOM) SECTION Y- ; S
ON SHEET 10) ON SHEET 10 SECTION Y—Y e
SCALE: 1/4"=1" e mmm e =1 IR
SECTION E—E AP e
SCALE: 1/4"=1" e | F.B.C. (HIGH VELOCITY HURRICANE ZONE)
-D—EIA/—L——G ALUMINUM LOUVER SYSTEM DRAWN BY
SCALE: 7/2,,:_7,, © 2008 TILTECO, INC MODEL FL_D_4 LA
08/5/08
MULLION AND JAMB INSTALLATION INTO POURED CONCRETE OR / I".lE COinc \ UNITED ENERTECH, INC. DATE
. 3101 SOUTH ORCHARD KNOB AVE.
GROUTED FILLED CELL CONCRETE BLOCK. TILLIT TESTING & ENGINEERING COMPANY CHATTANOOGA, TN, 37407 08-197
8355 N.W. 36th. Sta. 305, IRGINIA GARDENS, Fl. 33166 PHONE: (423)698~7715 FAX: (423)309-2410
Phone : (505)872-515;20?; "9(305)871 1531 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
) OLD 05-150 08,/05/01 3 - -
I I 5 : e e e A




E.D.

~(SEE SCHEDULE ED. ALTERNATE AP
on sHeer 14) (1) OR (2) LAG SCREW, LOCATION ]
£l 2%P.T WOOD SEE SCHEDULE N ‘ __
SEE SCHEDULE BUCK
ol SHEET 1) (SEE NOTE FOR SPECIFICATIONS
9/1 & SEE U ~ l
% /| SCHEDULE ON é } |
/% %\ SHEET 11) 0 | - |
! v i
L ALTERNATE ! X , v X
LOCATION P |
_— 1 1 . : @ . ‘
= ! g 1/2" THRU ‘ - (1) 1/2' THRU BOLT > | @ :
: | BOLTS (SEE = =—=H~7SEE SCHEDULE ON | 1/2
B, | screpuLe on SHEET 13) | e |
L ° =T o |
: | i @ S
| | a X )
Y .A_ ! 1| @2 __.AY ! (SEE | ~
ANGLE, H—£Q—~—EQ—+ @ N ! @ SCHEDULE 1 . ?
SEE SCHEDULE -/ || | ! ON SHEET 9) | /2 1°x2"%1/8 CONT. ALUM. ANGL
ON SHEET 13 ! ! e J @ | of /2" W/ 1/4"8 LAG SCREW W/
FOR SPECIFICATIONS || N | ANGLE, AN } N 7P tZA{tg;:‘?X;C/]'ONTHgE?/fDED oc ALTERNATE 1
| n SEE SCHEDULE ~ / H: ax. O.C.
! | ON SHEET 13 SPACING PER SCHEDULE TO WALL
|
| | ALTERNATE —p TEK SCREWS. T0 ® @ EA.
1 }\@ NGLE SCALE: 1/2"=1 TAPCON.
., L) l A LOCATION
3/8" S.S. THRU < (SEEEU B V /
BOLTS © 78" ONCgHgHL 9) ANGLE, VN DN~ )T (2);%8)(7"
0.C. FULL HEIGHT, SEE SOHEDULE (Dor (4 S.SM.S.
THRUB® & @ ON SHEET 13 | 77/ AN N
\N : FOR SPEC/F/CAT/O/A @ ptepnpele: b D
[ | (SEE L
O SCHEDULE %) 7) 1"2"%1/8 CONT. é
| | ON SHEET 9) (SEE TYP - ALUM. ANGLE f
ALTERNATE |1 | g0 | SCHEDULE 3/16 :
ANGLE Iin T ON SHEET 9) = P
LOCATION | ‘ o P = 1
1 X X
V ! | o8 %2) 1/2"8 THRU 2) 2'xP.T S
ANGLE,Y ! | Y ] BoLTs DETAIL 5 5/000 BUCK - N
SEE SCHEDULE | | 1/2"8 THRU (SEE SCHEDULE ON SCALE: 1/2"=1" (SEE NOTE 1'x2 )(748 CONT. ALUM. ANGLE
ON SHEET 13 —+ . | —BOLTS (SEE © % SHEET 13) ' W/ 1/4°8 LAG SCREW W/ |
FOR SPEC/E’CAT!ONSFIE | \ ﬁ" SCHEDULE ON z‘éfszgufggm 11/2” Min. THREADED — ;
I ! I——EIE'E;-Ll——- h SHEET 13) PENETRA T/ON @ Max. OC.
E L) (1) OR (2) NV SHEET 1) SPACING PER SCHEDULE TO WALL
K W/ (2) 1/4"ex1” (ITW BUILDEX)
/§§><§ 2 xe.T Woop @ @_\ T TEK SCREWS. T0 ® @ EA. ALTERNATE 2
' | (see note N B TAPCON.
1 \ R | - ' 2 n
YhEnuis on LAG_SCREW, @UBIN MAXisUM LA SCREW SECTION X=X
SHEET 17) SEE SCHEDULE. SMSN T SPACING AT JAMBS SCALE: 1/4=1"
1 ON SHEET 11 H : CALE: =
FOR SPECIFICATIONS Y \_@OR@ f ‘ E: | (pg/f. ) Jax.0& PRODUCT REVE
(SEE SCHEDULE LAG SCREW, N ! >50 10 70 7 » mm 5-0%072 .08
ON SHEET 11) x SEE_SCHEDULE - . 1y i;g ;g ?? 5 f ;ég,, Explention e
ON SHEET 11 ' 0” ANCIE b ' .
FOR SPECIFICATIONS 2°x4 XVARIESxO =8 ANGLE ~ [===zzzooom=sl >110 TO 130 3 1/2" By
o (TOP. & BOTION) SECTION Y=Y >130 T0 150 | 3" Misnsi D Product Control
|« (SEE SCHEDULE E.D. SCALE. 1,4=1" koo ivisi '
on snee 11) (GeE SCHEE I s 7 s
7 7
— ON
SECTION E=E  MULLION AND JAMB INSTALLATION INTO WOOD DETAIL 6 F.B.C. (HIGH VELOCITY HURRICANE ZONE)
SCALE: 1/4"=1 SCALE: 1/2°=1" ©2008 TUTECO, INC ALUM”A‘%% EtoquVEg iYS TEM oRa &
08/5/08
I I UNITED ENERTECH, INC. DATE
IL E c o INC. 3101 SOUTH ORCHARD KNOB AVE.
CHATTANOOGA, TN, 37407 .
R R et PHONE: (423)696~7715 FAX. (423)309-2410 08-197
N Phona : (305)871~1530. Fax : (308)871-1531 e T T pre——— = DRAWING No
-1 WALTEREa_OgELE/; Ij' P.E. ! oL 05-150___108/0% 3 -
FLORIDA Lic. # 44167 2 - — SHEET 7 OF 13




E.D. GAP
~—(SEE SCHEDULE £.D. @ — r STEEL MEMBER BY OTHERS SHALL

ON SHEET 12) (SEE SCHEDULE] CONFORM TO A.S.T.M. A—590 STFEL MEMBER BY OTHERS
ON SHEET 12) VIS T T A—653 OR A-36 W/ 1/8 SHALL CONFORM TO A.S.T.M.
£D ‘} ' MINIMUM WALL THICKNESS. A=500 A-653 OR A—36
(SEE SCHEDULE jk/TGEL/Z_NATE ! //:V W/ 1/8" MINIMUM WALL
THICKNESS.
ON SHEET 12) LOCATION ' | |
MACHINE SCREW, '\, - } | | (2)#8x1 1/4"
SEE SCHEDULE X
ALTERNATE ~__ ON SHEET 12 XV ! b VX S5 MS. T ®
- ANGLE FOR SPEC/F/CATIOE, : : : YP é A. END
LOCATION el L ~ N E LA
oN ) J E 'i ‘ ; 8" MAX. O.C.
/2" THRU i ; ' /
/IBOLTS (SEE Q | P T N l 7
ﬁ/ SCHEDULE ON I OR @ ' ' <
| s 19 i & | ol
: . % @ ” | @ ..
! 3 A Y (1) 1{320L¢T THRU : ! | 8” MAx. o.cC.
4 U — - — - — - —~ 4 i | | ;
i i (SEE SCHEDULE | i sob | 1/2
! ! @ - ON SHEET 13) @ npe _/_ ! | |
ON SHEET 13 |I | 2 | N\ ) i | N E
FOR' SPECIFICATIONS | | ) } | SR | NS
: ! ' @ (SEE |
| | !
WsioE { | QursIoD> @ S : 0502’525“#59) DETAIL 3 1"%2"1/8 CONT. ALUM. ANGL
t oo ——— . SCALE: 1/2"=1" W/ 1/4%0x3/4°(1TW BULDEX) TEK . Al TERNATE 1
! { ANGLE SCREWS @ 8" Max. 0.C. TO =
3/8% ss. HRU S (SEE SEE SCHEDULE——] , STEEL W/ (2) 1/4"ax1” (ITW
BOLTS @ 18" SCHEDULE ON SHEET 13 -__\/\_—. ___________ 2)#8x1" BUILDEX) TEK SCREWS. TO B @ STEEL MEMBER BY OTHERS
0.C. FULL HEIGHT, ON SHEET 9) FOR SPECIFICATIONS 7 SSMS. EA TEK SCREW. SHALL CONFORM TO A.S.T.M,
' AL TERNATE A~500 A-653 OR A-36
THRU B & @) ANGLE = o ”
< =7 A, LOCATION “NTT Wy 187 MINMUM WALL
Ll
| : (SEE T :
}\O i SCHEDULE ANGLE, g 1°%2"%1/8 CONT.
| I| |ON SHEET 9)  see’scHEDULE OR ALUM. ANGLE (2)f#8x1 1/4"
ALTERNATE || | ON SHEEr 13
ANGLE [1—EQ——=—£EQ—r S.S.M.S. T0 ©
, | FOR SPECIFICATIONS /@ TYP EA END
LOCATION | | T - \/L/ Eh 3
' l | &8 v
Y | | = Y @ ! (SEE D E TA/ L 5
ANGLE, | | 1/2"8 THRU SCHEDULE —_———=— STEEL MEMBER BY OTHERS
SEE SCHEDULE | l 1/ L:s - ON SHEET 9) SCALE: 1/2"=1 HALL CONFORM TO i
ON SHEET 13 =] BOLTS (SEE AS.TM. A-500 A—653 OR
FOR SPECIFICATIONS SCHEDULE' ON © A-36 W/ 1/8" MINIMUM
SHEET 13) (2) 1/2% THRU ALL THICKNESS.
BoLTs \ / WALL - 1/2° L
(SEE SCHEDULE Q-gi
] MACHINE SCREW, @ ON SHEET 13) N N‘
£.D. SEE SCHEDULE iy :
(|
(giEsi?gD%f N O SHEET 12 TOR @\ @)pexrn | 1] 1"%2"x1/8 CONT. ALUM. ANGL
SSMS \ | (Il W/ 1/4°ex3/4"(ITW BULDEX) TEK - Al TERNATE 2
(TOP. & BOTTOM) ? N Ol .,
ED I SCREWS @ 8” Max. 0.C. TO
. |1
l«—(SEE SCHEDULE £.D. < [ l| ! STEEL W/ (2) 1/4"ax1" (iTW
ON SHEET 12)  (SEE SCHEDULE MACHINE SCREW, / A I BUILDEX) TEK SCRews. T0® e  SECTION X=X
) SEE SCHEDUL 3/16"\ \| | EA. TEK SCREW. y
ON SHEET 12 FOR NI SCALE: 1
STEEL MEMBER BY OTHERS SHALL SPECIFICATIONS AW
CONFORM TO A.S.T.M. A-500 OR® ____________ Ly%___
A—653 OR A~36 W/ 1/8" /\ —————————————— ——]

MINIMUM WALL THICKNESS.

(TOP. & BOTTOM) /
SECTION E—E 2”4 X VARIESX0'~8" ANGLE 7007,
SCALE: 1/4"=1" SECTION Y-Y DETAIL 6 ~ FBC (HIGH VELOCITY HURRICANE ZONE)
SCALE: 1/4"=1" SCALE: 1/2"=1" © 2008 TLTECO, INC ALUMINUM LOUVER SYSTEM DRAWN 8Y
MODEL FL—-D-—-4 A
8/5,
TiLlEco . UNITED ENERTECH, INC. "o
IL E C O INC. 3101 SOUTH ORCHARD KNOB AVE.
» TILLIT TESTING & ENGINEERING COMPANY _, CHATTANOOGA, TN, 37407 08—197
MULLION AND JAMB INSTALLATION INTO 1/8” THICK MIN. STEEL - N i Y o ey S A L eI N TN e
(e I 5 e e e s B AT




MAXIMUM MULLION SPAN SCHEDULE FOR A GIVEN DESIGN LOAD AND MULLION SPACING *

MULLIONS

w 2"x4"x1/4" 2"x6"x1/4" 4"6"x1/4" OR (2) 2'X6"x1/4" 4"8"x1 /4"
(psf) MULLION SPACING MULLION SPACING MULLION SPACING MULLION SPACING

3 4 5 6 3 4 5 6 3 4 5 6 3 4 5 6
30 [8-0" [8-0" [8-0" [8-0" [10°-0" |[10°-0" [10'-0" [10'-0" |12-0" [12-0" [12'-0" [12'-0" [12'-0" [12'-0" [12'-0" [12'-0"
40 [¢-0" [¢-0" [8-0" [8-0" [10'-0" [10'-0" [10'-0" [10'-0" [12-0" [12'-0" [12'-0" [12'-0" |12'-0" [f2'-0" [12'-0" [12'-0"
50 |8-0" [8-0" [8-0" [8-0" [10-0" [10'-0" [10'-0" [10°-0" [12'-0" [12-0" [12-0" [12-0" |f2'-0" |12'-0" [12'-0" [12'-0"
60 [8-0" [8'-0" [8-0" [8-0" [10-0" [100-0" [10'-0" [10'-0" [12'-0" [12-0" [12'-0" [12'-0" [12'-0" [12'-0" [12'-0" |12'-0"
70 [8-0" [8-0" [8-0" [8-0" [10°-0" [10'-0" |10'-0" |[10°-0" [12'-0" [12-0" [12-0" [11°-10" [12-0" [12'-0" [12'-0" [12'-0"
80 |[8-0" [8-0" [8-0" [8-0" [10-0" [10'-0" |10°-0" [9-9" [12'-0" [12-0" |12°-0" [11'-4" [12'-0" [12'-0" [12"-0" [12'-0"
90 [8-0" [8'-0" [8-0" |[7-9" |10'-0" [10°-0" [10'-0" |9-5" [12'-0" [12°-0" [11'-7" [10-11" [12-0" [12'-0" [12'-0" [12'-0"
100 [8'-0" [8'-0" |[7-11" |[7'-5" [10°-0" [10'-0" [9'-8" |9-0" |12'-0" [12-0" [11'-2" |10'-6" [12'-0" [12'-0" [12'-0" [12'-0"
110 |[8-0" [8'-0" |7-8" |7'-3" |10'-0" [10'-0" [9'-4" [&-7" [12-0" [11-8" [10'-10" [10'-2" [12'-0" [12-0" [12"-0" [12'-0"
120 |8'-0" [8'-0" |7'-5" [7-0" |10-0" [9'-9" [9'-0" [8-2" [12'-0" [11-4" [10-6" [9'-11" [12-0" [12-0" [12"-0" [12'-0"
130 |8'-0" |7'-10" |7-3" [6-8" [10-0" |9-6" [8-7° [7-10" [12-0" [11-0" [10'-3" [9'-&" [12'-0" [12'-0" [12'-0" [12'-0"
140 _[8-0" [7'-8" [7-1" [6-5" |10-0" |[9-3" [8-4" |[7-7" [11-10" [10-9" [10°-0" [9'-5" [12'-0" [12'-0" [12"-0" [11"-11"
150 [8'-0" [7'-5" [6'-10" [6'-0" [10'-0" [9'-0" [8'-0" [7'-4" [11'-7" [10'-6" [or-9" [or-2v [12'-0" [12'-0" [12'-0" [11'-6"
* SEE ADDITIONAL LIMITATIONS FOR MAXIMUM MULLION SPAN ON SHEETS 10, 11, 12 & 13
FOR A MULLION CONNECTION TYPE. MAXIMUM FINAL MULLION SPAN SHALL BE THE MINIMUM
VALUE BETWEEN THIS SCHEDULE AND ANY OTHER SCHEDULE GIVEN ON ABOVE MENTIONED

SHEETS.

e saunplyiog with the Florids

Division

Bwuliding Codo
m* '0%'?, 08’

F.B.C. (HIGH VELOCITY HURRICANE ZONE)

©2008 TILTECO, INC

/TiLlEcom \

.y EB—0006719
P WALTER A TILLIT Jr. P.E
FLORIDA Lic. # 44167

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Sta. 305, VIRGINIA GARDENS, f1. 33166
Phone : (305)871-1530. Fax : (305)871~1531

4

ALUMINUM LOUVER SYSTEM DRAWN BY
MODEL FL-D—4 1A
08,/5,/08
UNITED ENERTECH, INC. DATE

3101 SOUTH ORCHARD KNOB AVE.

CHATTANOOGA, TN, 37407 08—197

PHONE: (423)698—7715 FAX: (423)309-2410

REV. No DESCRIFTION DATE REV. No DESCRIPTION DATE DRAWING No

1 OLD 05-150 08/05/0 3 -

SHEET 9 OF 13




MAXIMUM MULLION SPAN (L ft} FOR A GIVEN DESIGN LOAD

8 MULLION SPACING FOR TYPE 1 CONNECTION X
w MULLION SPACING
(psh 3 Z 5 5

3 [12°- 0"[12'- 0'[12'- 0"[12'- 0"
40 J127- 0 "[12'- 0"[12'- 0'[12'- 0"
50 |i2’- 0°[12'- 0"[12'- 0"{12'- 0"
60 [12'- 0"[12'- 0"[12'- 0"[12'- 0"
70 [12'- 012~ 0"[12'- 0"[11'- &~
B0 [12°- 0"[12'- 0"[11'- 8']98'- 107]
90 [|12'- 0"[13'- 0"[{i0'- 6"[8B - 9"
100 M2 0"[12°- 0| 8'- 6" 7'- 10"
Mo |12°- 0°[12'- 0°|8'- 7" 7'- 2°
120 |12°- 0"[12'- 0"[7'-10"[6'- 7"
130 M2°- 0"[12°- 0"[7'- 3" 6'- 1"
40 |12 - 0°[ 8- 5" 6. 5[5 - 7"
150 |10~ 6|7 -10"|6'- 3"[6'- 3"

TYPE 1 CONNECTION TO POURED CONCRETE:
2-1/2" KWIK BOLT TZ (HILTI, INC.) W/ 4" Min. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 3"MIN. E.D & 6" MIN. SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FORTYPE 5 CONNECTION %K
w MULLION SPACING
(psh) 3 4 5 6

30 12'- 0"[12'- o"[12'- o"[12'- 0"

40 P2~ o"[i2'- 0"[12'- 0"[12'- 0"
50 [12'- 0"[12'- 6°[12'- 0"|112'- 0"

60 12'~ 0"[M2'- o"|12'- o0"[12'- 0"

70 12'- 0"[M2'- 0"M2'- O0"[M1'- 11"
80 12'- 0"[12'- 0"[2'- 0"[{10'- 5"

90 PH2'- 0"[12'- 0"[11'- 1°]9°'- 3"
100 J12°- 0"[12'- 0"[10'- 0"|8'- 4"

110 12'- 0"M1'- 4" 9'- 1" 7'- 7"

120 12'- 0"|10'- &°" 8'- 4" 6'~ 11"
130 12'- 0"[9'- 7" 7'~ g"[6'- 5"

140 M-8~ 7 - 2[5 '~ 11"

150 M'- 1" 8°'- 4°[6°- 8" 5'- 7°

TYPE § CONNECTION TO POURED CONCRETE;
2-1/2"s KWMIK BOLT TZ (HILTI, INC.) W/ 4" Min. EMBEDMENT &
8" MIN. MEMBER THICKNESS, W/ 4" MIN. E.D & 6" MIN. SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 9 CONNECTION %

w MULLION SPACING
(ps?) 3 4 5 )

30 12'- 0"2'- o"[12'- o0"]12'-

40 12'- 0"M2'- o0"[12'- o"[12°'-

50 12'- 0"[12'- o"j12'- o0"[12'-

60 12'- 0"|12'- o"[12'- 0"[12'-

80 - |12'- 0"HM2'- 0"{12"'- 0"[11'-

90 12'- 0"[12'~ o0"y12'- 0"[10'-

0
0
0
0
70 12'- 0"[12'- o0"[12'- 0"[12'- 0"
3
0
0

100 12'- 0"[12'- o"j10'- 10"| 9'-

110 12'~ 0"12'- o"f9'-10"{8'- 2"

120 [12'- 0"111'- 3°]9'- 0"|7'- 6"

130 12'- 0"Ho'- 8" 4" 6'- 11"

9'-
8'-
14D 12I_ oll 9’_ 8" 7|_ 9“ 6'_ 5"
150 t2'- 0"/9'- 0o"{7'- 2"]6'- 0"

TYPE 9 CONNECTION TO POURED CONCRETE:
2 -1/2"a KWIK BOLT TZ (HILT1, INC.) W/ 4" Min. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 6" MIN. E.D & 6" MIN. SPACING

* NOTES:

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 2 CONNECTION XK
w MULLION SPACING
(ps 3 4 5 ;

30 J12'- 0°|[12'- 0"[12'- 0°[12'~ 0"
40 [12'- 0"H2'- 0"[i2'- 0"[12'- 0"
50 [12'- o"[H2'- 0'[12'- 0°'[12'- 0"
80 [12'- 0°|12'- 0"[12*- 0°[1Z'- 0"
70 [42'- 0"[12'- 0"[12'- 0"|i2"- 0"
80 [12'- 0'[12'- 0"[12'- 0"J11'- 3"
90 [12'- 0"J12'- 0"[12'- 0"[10'- 0"
100 [12'- 0"[12'- 0"]10'-10°|8'- 0"
110 [12'- 0°[12'- 0°|9'-10"|8'- 2"
120 |12°- 0"j[i1'- 3°|9'- 0"|7'- &°
130 [12°- 0°[10'- 5°[8'- 4°[6'- 11"
140 [12'- o"[9'- 8*'[7'- g"[6'- 5"
150 [12'- 0°"|0'- 0"|7'- 2°/6'- 0"

TYPE 2 CONNECTION TO POURED CONCRETE:
2 -5/8"g KWIK BOLT TZ (HILTI, INC.) W/ §" Min. EMBEDMENT &
8" MIN, MEMBER THICKNESS, W/ 3" MIN. E.D & 8" MIN. SPACING

MAXIMUM MULLION SPAN {L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 6 CONNECTION %

w MULLION SPACING
(ps) 3 4 5 6

30 12'- 0"[12'- o0"[12'- 0"|12'- 0"

40 12'- o"(12'- o"|12'- o"M2'- 0"

50 12'- 0"[12'- 0"H2'- 0"{12'- 0"

60 12'- 0o"|12'- 0"[12'- 0"[12'~ 0"

70 12'- 0"{12'- o0"[12'- 0"l12'- 0"

80 12'- 0"[12'- o"|12'- 0"{11'- 10"

90 12'- o"[12'«- o"[12'- o"10'- 7"

100 12'- 0"{12'~ 0"[11'- 5"[9'- 6"

110 12'- 0"(12'- o0"|i0'- 4"[{8'- 8"

120 12'- 0"[11'-10"f9'~ 6" 7'- 11"

130 12'- 0"[11'- o"|8'- "] 7'- 4"

140 12'- 0"j10'- 2"]8'- 2"[6'- 97

150 112'- 0"|9'- 6°|7'- 7"|6'- 4"

TYPE 8 CONNECTION TO POURED CONCRETE:
2-5/8"g KWIK BOLT TZ (HILTt, INC.) W/ 5" Min. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 4" MIN.E.D & 8" MIN. SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 10 CONNECTION %

w MULLION SPACING
(psh 3 2 5 6

30 |12'- 0"[12'- 0"|12'- 0"[12'- 0"
40 [|12'- 0"[12'- o"[12'- 0o"[12'- 0"

50 12'- 0"j12'- o"[12'- o0"[12'- o"

60 12'- 0"|12'- o"[12'- o“"[12'- 0"
70 12'- 0"pH2'- o"12'- o"[12'- oO"
80 i2'- 0"[12'- 0o"j12'- o"[12'- 0"
80 {§12'- 0"|[12'- 0."|12'- O0"[H2'- 0"
100 12'- o0"[12'- o"j12'- 0o"|M1'- 0"
110 12'- o"j12'- o"12'- o"[t0'- O"
120 12'- 0"f42'- 0"|11'- 0"} 9'~- 2"

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESING LOAD

& MULLION SPACING FOR TYPE 3 CONNECTION X

™ MULLION SPACING
(psh 3 4 5 3

30 2'- o"[12'- o"(H2'- 0"[12'- 0"

40 12'- 0"|12'- o"j12'~- o0"[12'- 0"

50 12'- 0"H2'- o"[12'- o"[12'- 0"

60 12'- 0"[12'- o"[12'- 0o"|M2'- 0"

70 12'- 0"[12'- o"[12'- o"[12'- 0"

80 12'- 0"[M2'- 0"j12'- 0"[11'- 9"

90 12'- 0"[12'- 0"H2'- o0"|10'- 5"

100 12'- o"M2'- 0"{11'- 3"|9'~ &"

110 12'- o"[12'- o"[10'- 3"|8'- 6"

120 12'- 0"(M11'- 9"{9'- 5"]7'-10"

130 12'- o"|t0'~ 10"} 8'- 8"]7'- 3"

140 2'- 6"(10'- 1" 8- 0"|6'- 8"

150 12'- ¢"l9'- 5"[7'- 6"|6'- 3"

TYPE 3 CONNECTION TO POURED CONCRETE;
2-3/4"e KWIK BOLT TZ (HILTI, INC.) W/ 5" Min. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 3" MIN. E.D & 6" MIN. SPACING

MAXIMUM MULLION SPAN (L ft} FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE7_CONNECTION X
w MULLION SPACING
(psf) 3 4 5 [

30 [12'- 0°[12'- 0"[12'- 0"[12'- 0"
40 [12'- o0'[12'- 0'[12'- 0"[1z'- 0"
5 |12'- 0°[12'- 0"[12'- 0"[12'- 0"
60 [12- o"[12'- 0"[iz'- 0"|iz'- 0"
70 [2'- 0°[12'- 012"~ 0"[12'- 0"
80 [12'- o0'[12'- 0"[i2'- 0"[1z'- 0"
90 12~ 0'[12'- o"[12'- 0°"|11'- 0"
100 [12'- 0"[12'- 6"[i1'-10"|8'- 10"
10 [12'- o"[12'- 0"[10'- 9"[9'- 0"
120 [12'- 0'[1z'- 0'[9-10"|8'- 3"
180 [127- 0"[11 - 6°|9'- 4°|7'- 7"
0 [12°- 0|10~ 77| 8- 677 - 1°
150 [12'- 0'[g'-10" |7 -1i"[6 - 7°

TYPE 7 CONNECTION TO POURED CONCRETE:
2 -3/4"3 KWIK BOLT TZ (HILTI, INC.) W/ 5" Min. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 4" MIN. E.D & 6" MIN, SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 11 CONNECTION ¥

w MULLION SPACING
(psh) 3 4 5 6

30 12'- 0"[12'- o"f12'- o0"[12'- ©
40 12'- 0"12'- o"[12'- 0"[12'- 0
50 12'- 0"[12'- o"M2'- o0"|12'- 0O
60 2'- o"f2'- 0"|42'- 0"[12'- o"
70 12'- 0"j|12'- 0"|12'- 0"12'- 0"
80 12'- 0"(M2'- o0"|12'- 0"[|12'- 0"
90 12'- o"M2'- o"(12'- o0"(12'- 0"
100 12'- 0"[12'- o"j12'- o"[2'- 0"
110 12'- 0"(12'- 0o"12'- o"[12'- o"
120 12'- o"[12'- o"|12'- Oo"[11'- 3"

130 |12'- 0'[H2'- 0°[10'~ 2"/ 8'- 6"
140 [12'- 0°]i1'- 9" 9'- 57 77-10°"
150 [12°- 0°"[11'- 0"|B'- 10| 7'- 4"

130 [12°- 0°"[{2'- 0"[12'- 0"[10'- &°
4012~ o0"[12'- 0|11 - 7"[0- &"
150 [12'- 0"[12'- 0"[10'-10"]9'- 0"

TYPE 10 CONNECTION TO POURED CONCRETE:
2 -5/8"s KWIK BOLT TZ (HILTI, INC.) W/ 5" Min. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 6.75" MIN. E.D & 6" MIN. SPACING

TYPE 11 CONNECTION TO POURED CONCRETE:
2 -M16 HSL-3 HEAVY DUTY (HILTL, INC) W/ 5" MIN. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 10" MIN. E.D & 8" MIN. SPACING

(1) SEE SHEET 9 FOR ADDITIONAL MAXMUM MULLION SPAN LIMITATIONS FOR A GIVEN DESIGN LOAD AND MAXIMUM
SPACING. MAXIMUM MULLION SPAN SHALL BE THE MINIMUM BETWEEN THE TWO SCHEDULES FOR A CONNECTION TYPE.

(2) SEE SHEET 13 FOR ANGLE SCHEDULE INDICATING MAXIMUM ALLOWABLE DESIGN LOAD, MULLION SPACING AND MULLION

SPAN FOR 1/4" THICK & 5/16" THICK ALUMINUM ANGLES USED TOP & BOTTOM FOR MULLION CONNECTION TO

SUBSTRATE.

MAXIMUM MULLION SPAN (L ff) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 4 CONNECTION X

w MULLION SPACING
(psh 3 4 5 3

30 12'- 0"[12'- 0"[12'- 0"[M2'- 0"

40 12'- 0"f12'- o"|12'- 0"[12'- 0"

§0 12'- 0"[12'- 0"112'- 0"l12'- 0"

60 12'- o"[12'- o"H2'- 0"{12'- 0"

70 12'- 0o"[12'- o"[2'- o0"[12'- 0"

80 12'- 0"]12'- o"M2'- o"(12'- 0"

80 12'- 0"j12'- o0"[12'- 0"[11'- 0"

100 i2'- 0"M2'- o"[11'- 10" 9'- 10"

110 i2'- o0"[12'- o"|10'- 9" 9'- 0"

120 12'- 0"[12'- o0"|9'-10"{8'- 3"

130 12'- 0"[11'- 5"l 9'- 1] 7"'- 7"

140 12'- 0"[10'- 7"{8'- B[ 7. 1"

150 12'- 0"l g'- 10"} 7'-11"{6°'- 7"

TYPE 4 CONNECTION TO POURED CONCRETE:
2 -M16 HSL-3 HEAVY DUTY (HILTI, INC) Wr 5" MIN. EMBEDMENT &
8"MIN. MEMBER THICKNESS. W/ 3" MIN. E.D & 6" MIN. SPACING

MAXIMUM MULLION SPAN (L t) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 8 CONNECTION X
w MULLION SPACING
(ps? 3 4 5 6

30 [|12°- 0"[12'- 0"[M2'- 0"[12'- 0"
20 [12°'- 0"[42'- 0°[12'- 0"[12'- 0"
50 [12'- 0"[12'- 0"[12'- 0"[2'- 0"
80 [12'- 0"[12'- 0"|12'- 0°"|12'- 0°
70 [2'- 0"[12'- 0"|[12'- 0"|[12'- 0"
80 [12'- 0"[i2'- 0"[12'- 0"[H2'- 0"
80 IM2'- 0"[12'- 0"|[12'- 0"[1'- &°"
100 [12'- 0"[12'- 0"]12'- 0"|10'- 4"
110 [12°'- 0"[12'- 0"|11'- 4"|9'- &"
120 |12'- 0"[12'- 0"[H0'- 4"|&8'- 8"
130 (12 '- 0"[12'- 0"[0'- 7"|8'- 0"
740 [12°- 0°[11°- 1°| 8- 11" 7'- 57
150 J12'- 0°[10'- 4"|8'- 4| 6'- 11"

TYPE 8 CONNECTION TQ POURED CONCRETE:
2 -M16 HSL-3 HEAVY DUTY (HILT!, INC) W/ 5" MIN. EMBEDMENT &
8" MIN. MEMBER THICKNESS. W/ 4" MIN. E.D & 6" MIN. SPACING

SCHEDULE FOR MULLION
CONNECTION TO

POURED CONCRETE

n n 2"
F1/4 lOR 5/16 1L
f 4” |

r;z"_._‘_zn
1‘” A [
NV 2 1/2"
6" :4”
f 2 1/2"
1"
i
1/4" OR 5/16”
(SEE SCHEDULE———| k-

ON SHEET 13)

2" !" ::EBIES Q,_an
ALUMINUM ANGLE

F.B.C. (HIGH VELOCITY HURRICANE ZONE)

©2008 TILTECO, INC ALUMINUM LOUVER SYSTEM DRAWN BY

MODEL FL-D-—4 LA

08/5/08
IILlE co UNITED ENERTECH, INC. DATE
INC. 3101 SOUTH ORCHARD KNOB AVE.
TILLIT TESTING & ENGINEERING COMPANY CHATIANOOGA, TN, 37407 08—197
5355 N.. 35th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166 PHONE: (423)698-7715 FAX: (423)309-2410
- Phane : (305)52;155%0?; 7:9(.!05)&71—15.!1 —— ——— T s — DRAWING No
T, WALTER A. TILLIT Jr. P.E. ! oup 05-150 _ lossossod 5 - -
S FLORIDA Lic. # 44167 2 ‘ - = | SHEET 10 OF 13




MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD

& MULLION SPACING FOR TYPE 12 CONNECTION*

W MULLION SPACING

{psh) 3 7] 5 3
50 | 6'- 6°|4'-10"]3'- 11"]3'~ 3°
680 |6'- 0"|4'- 1°[8'- 3"[2'- &°"
70 [4'- 0°|3'- 6°|2'- 8"|2'- 4°
80 |4'- 0']3'- 0"|2'- 5"|2'- 0"
%0 [3'- 0"|2'- 8"[2'- 2"[1'-10°"

MAXIMUM MULLION SPAN(L ft) FOR A GIVEN DESIGN LOAD

& MULLION SPACING FOR TYPE 13 CONNECTION *

W MULLION SPACING

(psf) 3 4 5 6
50 [12'- 0"lg'-11"|7'-11"16'- 7°
60 |[11'- 0"[8'- 3"|6'- 7"[5'- &"
70 [9'- 0"|7 - 1| 6'- 8"|4'- 9"
80 |8'- 0"|6'- 2°|4'-11"|4'- 2"
9 [7'- 0°|5'- 6°|4'- 5°[3°- 8"
6 [12'- 0"]8'- 0"|7'- 2"/ 8°'- 0"

TYPE 12 CONNECTION W/ 1/4" THICK ALUMINUM ANGLE TOWOOD  TyPE 13 CONNECTION W/ 1/4" THICK ALUMINUM ANGLETOWOOD  TYPE 14 CONNECTION W/ 5/16" THICK ALUMINUM ANGLE TO WOOD  TYPE 15 CONNECTION W/ 5/16" THICK ALUMINUM ANGLE TO WOOD

4 -3/8"9 LAG SCREWS W/ 1.5 Min. THREADED PENETRATION
W/2'E.D & 2" SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD

4 -3/8"s LAG SCREWS W/ 3" Min. THREADED PENETRATION
WI2"E.D & 2" SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD

& MULLION SPACING FOR TYPE 16 CONNECTION * & MULLION SPACING FOR TYPE 17 CONNECTION*
w MULLION SPACING w MULLION SPACING

{psf) 3 4 5 6 (psf) 3 4 ] 6

50 M2'- o"rg'- 4%17'- g"{8'- 3" 50 ji2'- o"[12'- 6"{12'- 0"ji2'- ©"
60 j10'- 0" 7'-10"|6'- 3"{5'. 2" 60 |12'- 0"[12'- 0"{12'- 0"[10'- 6"
70 8!_ 0" 6"‘ 8" 5!_ 4Il 4!_ 5|I 70 12!_ oll 12|_ 0" 10!_ 10" 9!_ 0"
80 | 7'- 0"[6'-10"[4'- 8"[3'-1{" 80 {12'- 0"[{1'- 10"} 9'- 5"} 7'- 11"
90 6" O" 5l_ 2" 4!_ 2" 3I- 6" 90 12!_ oll 10!_ 6“ 8" 5" 7l_ oll
§2 |12'- o"j9'- 0" 7'- 2" 6'- O" 1056 [12'- 0"} 9'- 0"[7'- 2"[6'- O"

TYPE 16 CONNECTION W 4/4" THICK ALUMINUM ANGLE TO WOOD

TYPE 17 CONNECTION W/ 1/4" THICK ALUMINUM ANGLE TOWOOD  TYPE 18 CONNECTION W/ 5/16"” THICK ALUMINUM ANGLETO WOOD TYPE 19 CONNECTION W/ 5/46" THICK ALUMINUM ANGLE TO WQOD

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD

& MULLION SPACING FOR TYPE 14 CONNECTION*

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD

& MULLION SPACING FOR TYPE 15 CONNECTION *

W MULLION SPACING w MULLION SPACING
(psh 3 3 5 & (psh 3 4 5 6
50 17 - 2[5~ 5 4~ a3 7" 50 112'- o0"[10'- 10"[8'~ 8"[7'- 2"
80 (6 - o T4~ 5 3 — 73— 5~ 60 J12'- 0" 9:- 0"7 - 2716~ 0
o Ts o 35— 15—+ 70 Jto'- 0"7°- ov[6’- 27|67 27
I A N I L T A 80 [9'- 0"/6'- 9"[5'- 5"]4'- 6
90 [8'- o"[6'- 0"[4'- 10" 4'- 0"
9 |4'- 0"|3'- 0"[2'- 5" 2'- 0" o T o e s o T 2 e o

4 -3/8" LAG SCREWS W/ 1.5" Min. THREADED PENETRATION
W/2"E.D & 2" SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 18 CONNECTION *
e

4 -3/8"s LAG SCREWS W/ 3" Min. THREADED PENETRATION
W/2"E.D & 2" SPACING

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD
& MULLION SPACING FOR TYPE 19 CONNECTION*

W ~ MULLIONSPACING W MULLION SPACING

{psf) 3 4 5 ) (psf) 3 4 5 6
50 [12'- 0"|8'- 8"|7'- 9"|6'- 6" 50 [12'- 0"[12'- ©"|12'- 0"ji2'- G"
60 [10'- 0"|8'- 1"|6'- 6"|5'- 5" 60 [12'- 0°"[12'- 0"[12'- 0"[12'- 0"
70 |9'- 07| 6'-11"|65'- 7"[4'- B" 70 [12'- 0°[12'- 0"|[12'- 0°[10'- 5"
80 |[8'- 0"[6'- 1"|4'-10"|4'- 1" 80 12'- 0'[12'- 0°[11'- 0"|9'- 2"
90 |7'- 0"|5'- 5"|4'- 47| 3'- 7" 90 [12'- 0"[12'- 0"|9'~- 9"| B'- 2"
54 [12'- 0"/ 9'- 0| 7'- 2"/ 6'- 0" 122 [12'- 0| 9'- 0°|7'- 2"/ 6'- 0"

8 -3/8" LAG SCREWS W/ 1.5" Min. THREADED PENETRATION
W/ 1.25"E.D. 8 2" SPACING

* NOTES:

8 -3/8"2 LAG SCREWS W/ 3" Min. THREADED PENETRATION

W/ 1.25"E.D & 2" SPACING

8 -3/8"g LAG SCREWS W/ 1.5" Min. THREADED PENETRATION
W/ 1.26"E.D & 2" SPACING

SCHEDULE FOR MULLION

CONNECTION TO WOOD

(1) SEE SHEET 9 FOR ADDITIONAL MAXIMUM MULLION SPAN LIMITATIONS FOR A GIVEN DESIGN LOAD AND -MAXIMUM
SPACING. MAXIMUM MULLION SPAN SHALL BE THE MINIMUM BETWEEN THE TWO SCHEDULES FOR A CONNECTION TYPE.

(2) SEE SHEET 13 FOR ANGLE SCHEDULE INDICATING MAXIMUM ALLOWABLE DESIGN LOAD, MULLION SPACING AND MULLION
SPAN FOR 1/4" THICK & 5/16” THICK ALUMINUM ANGLES USED TOP & BOTTOM FOR MULLION CONNECTION TO

SUBSTRATE.

it

8 -3/8"2 LAG SCREWS W/ 3" Min. THREADED PENETRATION
W/1.25"E.D & 2" SPACING

(SRS M H L

i /4" OR 5/18"

T

IS —
l___zn_______zn
1‘" T4
N>/ 2 1/2"
21:
7 =
)
8" 2:: 311
2») B
A 2 1/2"
; O
1/4” OR 5/16"
(SEE SCHEDULE— -
ON SHEET 13)
2” !” !:eBIES Q’—B"
ALUMINUM ANGLE

/4" OR 5/16" 1*» ﬁ
t - '

s 2;‘/% e

@ 2 1/2"

® O |

® O

T

2"
, 2 1/2”

0 O /

t

1/4” OR 5/16"

(SEE -SCHEDULE—— . :

ON SHEET 13) .m. mﬁm“mh 4
LWL ' ” Mﬁ&t ¥
2 x4 xXVARIESXQ —8" Accopsace Wo 40707
ALUMINUM ANGLE -

Division
F.B.C. ( HIGH VELOCITY HURRICANE ZONE)

© 2008 TILTECO, INC

/TiLlEcom \

... Phone
~.

e ®

~ EB~-0006719

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St, Ste. J05, VIRGINIA GARDENS, Fl. 33166
; (305)871~1530. Fox : (305)871-~1531

WALTER A. TILLIT Jr, P.E

FLORIDA Lic. # 44167

ALUMINUM LOUVER SYSTEM DRAWN BY
MODEL FL-D—4 1
08,508
UNITED ENERTECH, INC. DATE
3101 SOUTH ORCHARD KNOB AVE.
CHATTANOOGA, TN, 37407 08—197
PHONE: (423)698~7715 FAX: (423)308-2410
REV. No DESCRIPTION DATE REY., No DESCRIPTION DATE DRAWING No
L LS L B - —— SHEET 11 OF 13




1n

A/4" IOR 5/16" 1’» ﬁ

t

MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD ! PO} —
& MULLION SPACING FOR TYPE 20 CONNECTION & MULLION SPACING FOR TYPE 21 _CONNECTION » N
W MULLION SPACING ‘ W 1 MULLONSPACING ] ”2 2
(psf) 3 4 5 8 (psf) 3 4 5 6 :
1"
30 [12'- 0"[12'- 0"12'- 0°(12'- 0" 30 j12'- 0"|12'-~ 0"[12'- 0"[12'- 0" Y] 2 1/2"
40 [|12'- 0"[12'- 0"|12'- 0"[12'- 0" 40 2°- 0"|[12'- 0"[12'- O0"[12'- 0" .
50 [12'- 0"[12'- 0"[]12'~ 0"[H2'- 0" 50 12'- 0"|12'- 0"[12'- 0°"j12'- 0" Z i
60 |12'- 0°(12'- 0"J12'- 0"[12'- 0" 60 27- 012~ 0"|12'- 0"[12'- 0" / s
70 |12'- 0°]12'- 0"112'- 0"M2'- 0" 70 2= 012 - 0"|12'- 0" "|12'- 0" \)
80 [|12'- 0"|[i2'- 0°[12°- 0°"}12'- 0" 80 12'- 0"|12'- 0"[12'- 0"|[12'- 0" q" 2" 3"
90 [12'- 0"|12'- 0"[M2'- 0"[12'- ©O° 90 12'- 0"|12'- 0"[12'~- 0"[12"- 0"
100 [i2'- 0"{12'- 0"j12'- 0 "|11'- 9" 100 |12 '- 0"|12'- 0"{12'- 0"|11'- 9" G)
110 |12'- 0"{12'- 0"[12'- 0 |10 - 8" 10 [12'- 0"|42'- 0"[12'- 0"[10'- 8" =
120 [12'- 0'|[12'- 0"|11'- 9°|98'- §°" 120 |12'- 0"[12'- 0"[11'- §"|9'- 9" %
130 |12'- 0"j12'- 0"|10'-10°"19'- 0" 130 {12'- 0"'[12'- 0'[10'-10°"[9'- 0" p 2 1/2"
140 J12'- 0°[12'- 0"|10'- 1"|8'- 5" 140 |12 '- 0"|12'- 0°|10' - 1"|&8'- 5" » Q
150 |12 '~ 0°[11'- 8" 8'- 57 7' 10" 1650 |12°'- 0"[11'- 0" 0°'- 57| 7'- 10" 1¥
TYPE 20 CONNECTION W/ 1/4" THICK ALUMINUM ANGLE* TO STEEL TYPE 21 CONNECTION W/ 5/16" THICK ALUMINUM ANGLE* TO STEEL 1/4" OR 5/16"
4 -3/8"3—16 MACHINE SCREWS W/ 3/4" E.D. 4 -3/8"2-16 MACHINE SCREWS W/ 3/4° E.D. (SEE SCHEDULE—— -
& W/ 1/8" MIN. MEMBER THICKNESS & W/ 1/8" MIN. MEMBER THICKNESS ON SHEET 13)
2” !” !ZEBIES Ql_g”
ALUMINUM ANGLE
11)
MAXIMUM MULLION SPAN (L. ft) FOR A GIVEN DESIGN LOAD MAXIMUM MULLION SPAN (L ft) FOR A GIVEN DESIGN LOAD " OR 5/16" ————}" !
& MULLION SPACING FOR TYPE 22 CONNECTION & MULLION SPACING FOR TYPE 23 CONNECTION /4 r / ! 2|
W MULLION SPACING W | MULLIONSPACING T -
(PSf) 3 4 5 6 (psf) 3 4 5 6 [.—.—1 4_‘[/—————1" )
1 1/4”7 ’t~ —1 1/4
30 [42'- 0"[12'- 0"H2'- 0"|12'- 0" 30 [12'- 0"[12'- 0"[12'- Q0"[12'- 0"
40 [12'- 0"[12'- 0"12'- 0"[i2'- 0" 40 |12'- 0"[12'- 0"|12'- 0" "|[12'- Q" 19,. |
50 |12°- 0"|12'- 0"[M2'- 0"[i2'- 0" 50 |12'- 0"[12'- 0"[12'- 0"[12'- 0" é @ .
80 2'- 0"[12'- 0"|12'- 0"|12'- 0" 50 [12'- 0"[12'- 0°|[12'- 0 "|12'- O 21/2
70 |12'- 0°]12'- 0°]12'- 0°"|12'- 0" 70 |12'< 0"[12'- 0"[12'- 0"[2'- Q" 9"
80 [12'- 0'[12'- 0°]12'- 0"[12'- 0" 80 [12°- 0"[12'- 0"[12'- 0"|[12'- 0"
90 [12°'- 0"]12'- 0"|12'- 0"[12'- O 90 MM2'- 0'[12'- 0"[H2'- 0"l12'- Q" @ @
00 [12°- 0"[12'- 0°[12'- 0"[12'- 0" 1700 |12°- 0"|12 - 0°|12'- 0 "[12'- O
110 {12~ 0"|12'- 0"|12'- 0"[12' - 0" 110 [12'- 0"|[12'- 0"|12'- 0"(12'- 0" g" 2" 3"
20 [12'- 0"[12'- 0"[12'- 0°[3i2'- 0" 120 |12'- 0°|12'- 0"[12'~ 0"[12'- 0"
1830 [12°- 0"[12'- 0"[12'- 0"[12'- 0" 730 |12 - 0"|i2'- 0°|12'- 0"[12'- 0" @ @ |
140 |12°- 0"|[12'- 0"[12'- 0"|12'- 0" 130 [12'- 0"[12'- 0°|12'- 0"'[12'- 0" " =
80 [12'- 0"[12'- 0"[i2'- 0"[12'- 0" 180 |12 - G"[12°'- 0°[12'- 0"[12'- O 2 i
TYPE 22 CONNECTION W/ 1/4" THICK ALUMINUM ANGLE* TO STEEL TYPE 23 CONNECTION W/ 5/16" THICK ALUMINUM ANGLE* TO STEEL (D @ 2.1/2
8 -3/8"8-16 MACHINE SCREWS W/ 3/4" E.D. 8 -3/8"s—~16 MACHINE SCREWS W/ 3/4" ED. 1"
& W/ 1/8" MIN. MEMBER THICKNESS & W/ 1/8" MIN. MEMBER THICKNESS !
1/4" OR 5/16"
(SEE SCHEDULE—— |-

ON SHEET 13)

SCHEDULE FOR MULLION T
CONNECTION TO STEEL ALUMINUM ANGLE

* NOTES:
(1) SEE SHEET 9 FOR ADDITIONAL MAXIMUM MULLION SPAN LIMITATIONS FOR A GIVEN DESIGN LOAD AND MAXIMUM F.B.C. (HIGH VELOCITY HURRICANE ZONE)
SPACING. MAXIMUM MULLION SPAN SH B MINIMUM CONNECTION TYPE.

Al LLION SPA| ALL BE THE MINIMUM BETWEEN THE TWO SCHEDULES FOR A CONNECTION ——— ALUMINUM LOUVER SYSTEM P
(2) SEE SHEET 13 FOR ANGLE SCHEDULE INDICATING MAXIMUM ALLOWABLE DESIGN LOAD, MULLION SPACING AND MULLION MODEL FL-D—-4 LA
SPAN FOR 1/4" THICK & 5/16"” THICK ALUMINUM ANGLES USED TOP & BOTTOM FOR MULLION CONNECTION TO 08/5,08
SUBSTRATE. l I UNITED ENERTECH, INC. DATE

lL E C O INC. 3101 SOUTH ORCHARD KNOB AVE.
CHATTANOOGA, TN, 37407 _
,w:; . ] Ggél;Lllva Gﬁg’ﬂg,ﬁs: .%Géﬁgﬁkg%ﬂ%‘,’%’,?g:c PHONE: (423)6‘98—7715 FAX: (42.3).30.9—2410 08 797
s T - —— T -(:} Phone : (305)872_515830.;?; 1:9(305)871—-1531 ™ DESCRIPTION PATE RV, No DESCRIPTION DATE DRAWING No
i N CTILLIT Jr. PE, oLD 05-150 08/05/0 5 - =
¢ W oA L # 2167 n ‘ = —] SHEET 12 OF 13




SCHEDULE FOR MAXIMUM MULLION SPAN FOR A GIVEN DESIGN LOAD AND

MULLION SPACING IN ORDER TO USE 1/4" THICK ALUMINUM ANGLE

* NOTES:

FOR MULLION CONNECTION TO SUBSTRATE

w MULLION SPACING (ft)

(psf) 3 4 5 6

30 12'- 0"|12'- 0"{12'- 0"[12' 0"
40 12'- 0"|M2'- o"[12'- 0"[12"' 0"
50 12'- 0"[12'- o0"|12'- 0"{12"' 0"
60 12'- 0"[12'- o"{12'- 0"[12' 0"
70 12'- 0"[12'- o"[12'- 0"[12' 0"
80 12'- 0"|12'- o"(12'- 0" |11’ 3"
90 12'- 0"|12'- o0"[12'- 0"[10' o"
100 12'- o"|M2'- o0"[10'- 10"} 9'- 0"
110 12'- 0"|12'- 0" 9'-10"| 8'- 2"
120 12'- 0"11'- 3"[9'- 0"|7'- 6"
130 12'- 0"{10'- 5" §f— 4" 6"'- 11:L
140 12'- 0"l 9'- 8"|7'- 9"| 6'- "
150 12'- 0o"|9'- 0"|7'- 2"|6'- 0"

(1) ANY MULLION SPACING OR MULLION SPAN LARGER THAN THE ONES INCLUDED ON THIS SCHEDULE WILL REQUIRE A 5/16"
THICK ALUMINUM ANGLE INSTEAD OF 1/4" THICK ALUMINUM ANGLE

(2) SEE SHEET 9 FOR ADDITIONAL MAXIMUM MULLION SPAN LIMITATIONS FOR A GIVEN DESIGN LOAD AND MAXIMUM SPACING.
MAXIMUM MULLION SPAN SHALL BE THE MINIMUM BETWEEN THE TWO SCHEDULES FOR A CONNECTION TYPE.

1/2”s THRU BOLT REQUIREMENTS FOR CONNECTION OF

ALUMINUM ANGLE TO MULLION FOR MULLION

END CONNECTION TO SUBSTRATE.

MULLION TYPE

1/2”¢ THRU BOLT REQUIRED

2”X4” & 2”X6”

(1) REQUIRED

(2) 2”x6”

(2) REQUIRED & (1) EACH TUBE

4”X6” & 4”x8”

(2) REQUIRED

F.B.C. (HIGH VELOCITY HURRICANE ZONE)

© 2008 TILTECO, INC

/TiLIECOme \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. Jé‘(h St, Ste. 305, VIRGINA GARDENS, F1. 33166
Phona : (305)871~1530. Fax : (308)871—1831
EB~0006719
WALTER A, TILLIT Jr, P.E
FLORIDA Lic. # 44167

ALUMINUM LOUVER SYSTEM DRAWN BY

MODEL FL-D—4 LA

08/5/08
UNITED ENERTECH, INC. DATE
3101 SOUTH ORCHARD KNOB AVE.
CHATTANOOGA, TN, 37407 08_ 797
PHONE: (423)698-7715 FAX: (423)309-2410
REV, No DESCRIPTION DATE REY, No DESCRIPTION DATE DRA WING No
" ol 05150 YW > - —— SHEET 13 OF 13




